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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=09, (443nm)
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90 :
| slope=
0.0028917
32709
[94.585]
26294
[76.034]
19879
[57.484]
13464
[38.934]
7049
[20.384]
634
_90 T T T T T T T T T | | | T DN [1833]
0 30 60 90 120 150 180  -150  -120 -90 -60 -30 0 [Wim?/str/um]
Longitude
histgram (75°N~75°§) . .
8000 ‘“\ ~ Avail sample=422629
| | | 76.04 - -
6000 . —
€
£ 57.491 -
4000 . 2
£ 38.94 1 -
2000 ‘ ‘ =
peak=36.618 | 20.391 i
: : Imean=46.967 ;
0 . 5 L : 1.83 T T T T T T T T T - -
634 7050 13465 19881 26296 90 75 60 45 30 15 0 -15-30 -45 -60 -75 -90
[1.833] [20.386] [38.937] [57.49] [76.04] [94.593] Latitude

DN [W/m?/str/pm]



Latitude
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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=13, (667nm)
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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=14, (678nm)
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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=16, (870nm)
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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=17, (905nm)
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File = MOD02SSH-A2005164-pbin—-005.1440-0721, MODIS ch=19, (940nm)
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